
 
 
Ques.1 Karan got an empty 500 ml cold drink bottle. Look at the picture and 

discuss what  he did to fill the water up to mark of a bog conical flask. 
 �ú¸ü�Ö � êú ¯ÖÖÃÖ ‹�ú 500 ×´Ö»Öß �úß ¿Ö²ÖÔŸÖ �úß ²ÖÖêŸÖ»Ö Æîü −Öß“Öê ×¤üμÖê �ÖμÖê ×“Ö¡Ö �úÖê ¤êü�ÖÖê †Öî¸ü 
 ²ÖŸÖÖ†Öê �úß ‡ÃÖ °»ÖÖÃ�ú �úÖê †Ö¬ÖÖ ³Ö¸ü−Öê ¾Ö ¯Öæ¸üÖ ³Ö¸ü−Öê � êú ×»Ö‹ ˆÃÖê ×�úŸÖ−Öß ²ÖÖêŸÖ»Ö ¿Ö²ÖÔŸÖ �úß 
 •Ö¹ý¸üŸÖ ¯Ö›êü�Öß | 
             2 liter 
 
 
  
  
  500 ml. 
 
 
Ques.2 A big bottle contains 1 liter oil. A little bottle having capacity of  

200ml. How many number of little bottle can be filled by this 
big bottle? 
 
‹�ú ”ûÖê™üß ²ÖÖêŸÖ»Ö ´Öê 200 ×´Ö»Öß0 ¦ü¾μÖ ³Ö¸üÖ •ÖÖ ÃÖ�úŸÖÖ Æî |ü 1 »Öß™ü¸ü �úß ‹�ú ²ÖÖêŸÖ»Ö ³Ö¸ü−Öê  
� êú ×»Ö‹ ‹êÃÖß ×�úŸÖ−Öß ”ûÖê™üß ²ÖÖêŸÖ»ÖÖë �úß †Ö¾Ö¿μÖ�úŸÖÖ ÆüÖê�Öß ? 

 
 
 

 
 
 

 
 
200 ml + ______ + _______ + _______ + ________ + = 1 liter 
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Ques.3 Look at this pictures. Now write the name of things with capacity 
that can be filled in these bottles. 

 −Öß“Öê ×¤üμÖê �ÖμÖê ×“Ö¡ÖÖë ´Öê ¤ü¿ÖÖÔμÖß �Ö‡Ô ¾ÖÃŸÖã†Öë � êú −ÖÖ´Ö ×»Ö�ÖÖê ¾Ö ˆ−Ö´Öë ³Ö¸êü ¦ü¾μÖ �úß ´ÖÖ¡ÖÖ �úÖ 
 †−Öã´ÖÖ−Ö »Ö�ÖÖ†Öê | 
 
 
 
 
 
I.     II. 
 
 
 
  ________ , _________, _______                ________ 
 
 
 
 
 
 
 
III.    IV. 
     
            
       __________    
  _______________ 
  ___________         
 

 
Name of things 
 

 
Capacity of bottle  

 
 

 

 
 

 

 
 

 

 
 

 



Ques.4 Fill the table accordingly. 
 
 

Object 
¾ÖÃŸÖã 

For 2 liters (How many 
times)  
×�úŸÖ−Öß ³ÖÖ¸üß (2 »Öß0 � êú 
×»Ö‹) 
 

For 3 liters (How 
many time) 
×�úŸÖ−Öß ³ÖÖ¸üß (3 »Öß0 � êú 
×»Ö‹) 
 

 
Mug (200 ml) 
�ú¯Ö (200 ×´Ö»Öß0) 

 

  

 
 
Glass (250 ml) 
�»ÖÖÃÖ (250 ×´Ö»Öß0) 

 

  

 
 
Pot (500 ml) 
´Ö™ü�úÖ (500 ×´Ö»Öß0) 
 

  

 
Bucket (1 liter) 
²ÖÖ»™üß (1 »Öß™ü¸ü) 

 

  

 
 
 
Ques.5 Calculate and fill in the blanks. 
 �Ö�Ö−ÖÖ �ú¸üÖê ×±ú¸ü ³Ö¸üÖê 
 
 e.g.:- 5 * 200 ml = 1 liter  
 ˆ¤üÖ¸ü�Ö:- 5 x 200 ×´Ö»Öß = 1 »Öß™ü¸ 
 

a) 10 * 200 ml = __________. 
10 x 200 ×´Ö»Öß0 = ______ 

b) __ ml * 20  = 2 liter. 



______ x 20 = 2 »Öß™ü¸ 
c) 550 ml + _____ ml = 1 liter. 

550 ×´Ö»Öß0 + ______ ×´Ö»Öß0 = 1 »Öß™ü¸ 
d) 1 liter - _____ml = 250 ml. 

1 »Öß™ü¸ü - ______ ×´Ö»Öß0 = 250 ×´Ö»Öß0 
e) 5 liter 500 ml / 5 = ______ liter + ________ ml. 

5 »Öß™ü¸ü 500 ×´Ö»Öß0 ÷ 5 = ______ »Öß0 + ______ ×´Ö»Öß0 | 
  

 
Ques.6 Ram goes to his nani’s home by car for which one liter petrol is  

required for one kilometer. If nani’s home is at 10 Km. How much 
 petrol needed? 
¸üÖ´Ö †¯Ö−Öß −ÖÖ−Öß � êú ‘Ö¸ü �úÖ¸ü ÃÖê •ÖÖÆüÖ “ÖÖÆüŸÖÖ Æîü ˆÃÖ�úß �ÖÖ›üß 750 ×´Ö»Öß ¯Öî™ÒüÖê»Ö ÃÖê 1 ×�ú´Öß 
“Ö»ÖŸÖß Æîü | †�Ö¸ü ˆÃÖ�úß −ÖÖ−Öß �úÖ ‘Ö¸ü 10 ×�ú´Öß ¤æü¸ü Æîü ŸÖÖê ˆÃÖê ×�úŸÖ−Öê ¯Öî™ÒüÖê»Ö �úß 
†Ö¾Ö¿μÖ�úŸÖÖ ÆüÖê�Öß ? 

 
 
 
Ques.7 For making a glass of coffee, sonu uses 20 ml milk. He wants to 

make 50 cup of  coffee. How much milk did he required? 
‹�ú �ú¯Ö �úÖò±úß ²Ö−ÖÖ−Öê � êú ×»Ö‹ ÃÖÖê−Öæ 20 ×´Ö»Öß ¤æü¬Ö �úÖ ¯ÖÏμÖÖê�Ö �ú¸ŸÖÖ Æîü ‹�ú ¯ÖÖ™üá � êú ×»Ö‹ 
50 �ú¯Ö �úÖ±úß ²Ö−ÖÖ−Öê � êú ×»Ö‹ ˆÃÖê ×�úŸÖ−Öê ¤æü¬Ö �úß †Ö¾Ö¿μÖ�úŸÖÖ ¯Ö›ëü�Öß ? 

 
 
 
Ques.8 How many cups of coffee be made by 1 ½ liter milk? 
 ›êüœü »Öß™ü¸ü ¤æü¬Ö ÃÖê ×�úŸÖ−Öê �ú¯Ö �úÖò±úß ²Ö−ÖÖ‡Ô •ÖÖ ÃÖ�úŸÖß Æîü ? 
 
 
 
Ques.9 If he made 100 cup coffee then find how much milk he needed? 
 μÖ×¤ü 100 �ú¯Ö �úÖò±úß ²Ö−ÖÖ−Öß ÆüÖê ŸÖÖê ˆÃÖê ×�úŸÖ−ÖÖ ¤æü¬Ö “ÖÖ×Æü‹ ? 
 
 
Ques.10 Doctor suggested a patient to take eye drop with 25 ml medicine for 

5 days. How much medicine will be use by the patients?  
‹�ú ›üÖòŒ™ü¸ü −Öê ¸üÖê�Öß �úÖê 25 ×´Ö»Öß ¤ü¾ÖÖ 5 ×¤ü−ÖÖë � êú ×»Ö‹ ¤üß | ²ÖŸÖÖ†Öê ‹�ú ×¤ü−Ö ´Öë ¾ÖÆü ¸üÖê�Öß 
×�úŸÖ−Öß ¤ü¾ÖÖ »Öê�ÖÖ? 



 

ANSWERS  
 
 
Ans.1 Four times.  

  4 ²ÖÖ¸ü 
 
Ans.2 4 bottles, 200 ml. 

  4 ²ÖÖ¸ü, 200 ×´Ö»Öß0 
 

Ans.3  
(i) Eye drop, 15 ml 

15 ×´Ö»Öß0 
(ii) Ned, 100 ml. 

10 ×´Ö»Öß0 
(iii) Milk, 1 liter. 

1 
(iv) Cold- drink, 1 ½ liter. 

1 ½ 
 

Ans.4  
 
(i) 10 times, 15 times. 

10 ²ÖÖ¸ü, 15 ²ÖÖ¸ü 
(ii) 8,  12 . 

8  12 
(iii) 4,  6 

4  6   
(iv) 2,  3 

2  3  
 

Ans.5  
(i) 2 liter  

2 »Öß™ü¸ü 
(ii) 100 

100 
(iii) 450 



450 
(iv) 750 

750 
(v) 1, 100 

1, 100   
 
 

Ans.6  7 ½ liter 
   7 1/2 »Öß™ü¸ü 

Ans.7  1 liter 
  1 »Öß™ü¸ü 
Ans.8  75 cup 
  75 �ú¯Ö 
Ans.9  2 liter 
  2 »Öß™ü¸ü 
Ans.10  5 ml. 
  5 ×´Ö»Öß0 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 


